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BREER AT : 0 34 TH22H (#) NFEHY R N)—o5F
B FE . YU 7K ZMAL 114 A (B4 103 - ZofE: 11A)
HDCP LR : TTHulviTH . &L
BLi—1: 5 0000 BH @000 B 0@Re6® 1/2
FNERTHE © M GEWVIE) - 38T UhEWIE) EDRI : 5F1 34 7TH228  (K)
JELT ZnE4 L il i3] GROSS HDCP NET ik
_@;‘n Ttk N 39 39 78 9.6 | 68.4
EER LY BE 46 43 89 19. 2 69. 8
"3 (i) iR IEAT 55 49 104 33.6 70. 4
G0 WL AREE 41 38 79 8.4 70. 6
5 (L B B 44 47 91 20. 4 70. 6
o 42 42 84 13.2 70. 8
7 oAk B 43 47 90 19.2 70. 8
Ik gg_{g: EE EiE 41 43 84 13.2 70. 8
9 {0 A B 46 48 94 22. 8 719
ﬂfﬁﬁ xEE 2= 39 43 82 10. 8 71.2
:E1 T%x W B 40 42 82 10. 8 71.2
12 f7 {EjE B 49 50 99 27.6 71. 4
13 fif |8 K¥ B3 51 104 32. 4 T1.6
14 {i7 | #4288 Fnsk 43 43 86 14. 4 71.6
A5, 07 | Bl IEFD 46 46 92 20. 4 71.6
16 iz | BFF FHT 41 44 85 13.2 71,8
17 i | SFIR BR 39 39 78 6.0 040
18 fif | H¥T LB 52 44 96 24. 0 72.0
19 fir | ¥FE Fra 47 48 95 22.8 12
20 {7 | Kl M 42 4] 83 10. 8 72.2
21 {7 | W B 87 40 77 4.8 72.2
2 i B =Ef 37 39 76 3.6 72. 4
23 iz [Tl =R 39 37 76 3.6 72. 4
24 fif | Bkt 24 43 45 88 15. 6 72. 4
25 {if | FEO A 48 40 88 15.6 72. 4
26 i | %k BB 44 43 87 14. 4 72.6
27 {if | BE Wi 43 44 87 14. 4 72.6
28 {if | g 5+ 41 40 81 8.4 72. 6
29 fif | Eft —2 43 44 87 14. 4 72.6
80 | HE OErE 41 40 81 8.4 72.6
31 i | AR &I 39 42 81 8.4 72.6
32 fif | HEH R 46 47 93 20. 4 72.6
N FEE 42 44 86 13.2 72.8
34 fif |HEWF T — M 53 56 109 36. 0 73.0
85 i | INFE 1= 41 43 84 10.8 73,2
36 fir | Bk 42 42 84 10.8 93 2
37 L L B 47 42 89 15.6 73. 4
38 fr | Hir B 49 52 101 27.6 73.4
39 i | itk EE 41 48 89 15.6 73. 4
40 {7 | KR BlE 46 42 88 14.4 73.6
41 i [ # E Fis 45 49 94 20. 4 73.6
42 {if |geBA #ir 4] 47 88 14. 4 73.6
43 {ir | PF e 35 4] 76 2.4 73. 6
4T 1D BiE % 43 44 87 13.2 73.8
A5 Ll Rk 41 46 87 i 73.8
46 {r [ H#EE FE 42 45 8 13.2 73. 8
47 fir | T3 BT 41 40 81 7.2 73.8
48 {if | BXH % 39 36 75 {.'9 73.8
49 {if | #P 3CfE 40 41 81 7.9 73.8
5047 | KEA Al 16 46 92 18. 0 74. 0
51 {ir | FA il 46 52 98 24.0 74.0
52 {ir I[N T 50 47 97 22.8 74. 2
53 i | K FiT 39 40 79 4,8 74.2
54 {if | R LK 41 44 85 10. 8 74.2
55 ho e L 9 42 49 9] 16.8 | 74.2
56 iz | 4THF [ 44 47 91 16. 8 74. 2
57 i | HFE & 47 43 90 15.6 74. 4
58 fir | iH A4 39 39 78 3.6 74. 4
59 07 | /B3m Hot 41 43 84 9.6 74, 4
%T)Jﬁ?‘ Bl 41 42 83 8. 4 74. 6
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JIEEAT BINE 5 e [iE] i3] GROSS HDCP NET =
61 {ir | TRE a3 — 40 49 89 14. 4 74.6
62 {if | FH HE 45 44 89 14. 4 74. 6
63 fir | KiR BLiE 38 44 82 7.2 74. 8
64 fir | HE] FEi8 45 43 88 13.2 74. 8
65 fr| FY — = 44 44 88 13.2 74.8
& (7 | ShaE 5eAT 43 44 87 12.0 75.0
67 fiL | M TEA 43 44 87 12.0 75.0
68 {ir | KIL 47 46 93 18.0 75.0
69 {ir |l B 42 45 87 12.0 75.0
70 {nl)Il& = 47 46 93 18.0 75.0
71 7 Bkl Bk 42 44 86 10. 8 75. 2
72 O | {fEFK EFE 43 43 86 10. 8 75.2 |
FRAEE 2 38 36 4| L2 752 6o
74 {F | Rk BT 40 40 80 4.8 75. 2
75 {in | MRiE SEX 49 49 98 22.8 75. 2
76 07 (BRI AR 42 48 90 14. 4 75. 6
W A BE 49 47 96 20. 4 75. 6
78 i | U = 47 48 95 19.2 75. 8
79 {7 | BH 3Lz 44 45 89 139 75. 8
80 fr | HH HER 55 51 106 30.0 76. 0
81 {if | #21% & 50 44 94 18.0 76. 0
82 i | Eif 1EAN 49 44 93 16.8 76. 2
83 {if | =M ¥ 42 45 87 10.8 76. 2
84 fir | I BE 45 42 87 10.8 76. 2
85 {7 | ME 1E3E 44 42 86 9.6 76. 4
86 {ir | L7 F3E 46 46 92 15.6 76. 4
87 {ir | 3kH Bi# 47 44 91 14. 4 76. 6
o BB 5T 43 41 84 7.2 76. 8
89 fir  HY K= 57 51 108 31.2 76. 8
90 {w | #L KB 42 42 84 ) 76. 8
91 {v | B Fnz 45 51 96 19. 2 76. 8
92 {if | Ik 1B 45 45 90 102 76. 8
93 {if | =i FEEX 47 49 96 19.2 76. 8
94 fif | T2 3 43 51 94 16.8 7.2
95 {ir =g B 48 46 94 16.8 77.2
96 {if | Bk 41 46 87 9.6 77. 4
97 i | /NIRF =EF 48 51 99 21.6 77. 4
98 {7 | {FiE 155 44 37 81 3.6 77. 4
W | B B 40 47 87 9.6 77. 4
10047 | e KAR 61 68 129 51.6 77. 4
101 {7 | & H KR 44 51 95 16.8 78, 2
102 {7 | A#E M= 57 56 113 34.8 78.2
103 {7 [JIIsFH =+ 46 48 94 15.6 78. 4
104 {7 | &l i 44 44 88 9.6 78. 4
105 47 | Ri% A 50 50 100 21.6 78.4
106 {7 | K% & 60 51 111 32. 4 78. 6
107 {7 | FilFE 3E] 45 47 92 13.2 78. 8
108 {if | fH &= 47 51 98 19. 2 78. 8
109 {if /Mg — I 52 51 103 24.0 79.0
_% VR 53 19 102 22.8 79. 2
Ak BEE 48 48 96 16.8 79. 2
112 fir | AfRH % 60 50 110 28. 8 81.2
B 2 &R =t 52 44 96 14.4 81.6
B_M|BH %t 50 51 101 19.2 81.8




